
Homework #2-1        
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 Homework 2-2 

 (a).     Bollinger B-5 

             a.     11011  0111 = 1B716 

 B        7 

 

               d.     1011 . 0111 = B.716 

                            B        7 

 

 (b).     Bollinger B-7 

 

-34610 = 11111110101001102 

224210 = 00001000110000102 

-346510 = 11110010011101112 

 

  



3. 

        a) half subtractor 

 

        A             B D  B       

         0              0              0           0     

         0              1              1           1     

         1              0              1           0     

         1              1              0           0     

 

 

 

         b)  Full borrower                                                                                                             

A     B      Bin          D      Bout      

0      0       0             0       0 

0      0       1              1       1     Bin 

0       1       0             1       1 

0       1       1             0       1 

1        0      0            1        0 

1        0      1            0        0       

1        1      0            0        0 

1        1      1            1        1                

 

Type equation here. 
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(a)  Complete the truth table for the following circuit 
 

 

( )( ) ( )

( ) ( ) ( )( )
( ) ( )(1 )

1 1

y A B B C B C B B C

A B B C B C B B C B C B B C

A B C B C B B C B C B B C

A B C B C B C
A B C B
A C

= ⋅ ⋅ ⋅ + ⋅ ⊕ ⋅ ⋅

= + + ⋅ + ⋅ ⋅ ⋅ ⋅ + ⋅ ⋅ ⋅ ⋅

= + + + ⋅ + + + ⋅ ⋅ + ⋅

= + + + ⋅ + ⋅

= + + +
= + + =

 


